Lab #3 data sheet

Golden Shoe Award
A Simple Field Test for the Assessment of Physical Fitness

Name:    









Lab Section Time: 








  

  

Calculation for Balke 12 Minute Field Test 

Total Distance Run = laps x 400 meters (for lane #1) = meters 

  

 










Velocity (Meters/Minute) = (total distance run in meters)/ (total time = 12 minutes) = meters/minute 

  











  

  

 

IV. Results 

1. Calculation of Oxygen Uptake: 150 meters/minute requires 33.3 mlO2/kg body weight/minute. For each 1.0 meter increase in velocity above 150 meters/minute, you require 0.178 additional ml O2/kg/minute. 

a) Speed in excess of 150 meters/minute = meters/ minute - 150 =  difference 

 

b) Additional O2 requirement = difference (a) x 0.178 = 

  













 

c) Total oxygen uptake = 33.3 + additional O2 requirement (b) = ml/O2/kg/min 

 







2. Record standing recovery heart rate (b/min). 

  

 






  

 VIII. Calculations for less than 4.5 laps in 12 minutes 

VO2 (ml O2/kg/min) = (0.20 x speed m/min) + 3.5 (resting metabolism) 

For Example: If you ran 4 laps, 4 laps x 400 meters = 1600 meters in12 minutes, then you ran at a speed of 1600/12 = 133.3 meters/min. 

Thus, VO2 = (0.20) (133.3) + 3.5 = 30.16 ml O2/kg/min 

  

 Rockport 1-Mile Walk 

  

Each subject should walk as fast as possible, without running for 1 mile. For our class, we will use 1600 meters, because it is very easy to walk that distance (our outdoor track is 400 meters in length, and our indoor track is 200 meters in length). 

Immediately at the end of the walk, find your pulse rate by palpation for 15 seconds. Multiply by 4 to find your ‘terminal heart rate.’ Please note that your walk time should be reported in minutes only, so be sure to convert any seconds into minutes by dividing by 60. Additionally, you will need to know your age (in years) and your weight (in pounds, not kilograms) 

 Enter you results here: 

Time: __________  Age: __________  Weight: __________ 

15 second count: __________  Terminal HR: __________ 

 Enter your values into the following formula to find VO2 max (in mL/kg/min): 

[Note that for sex, males enter 1, females enter 0] 

VO2max = 132.853 — (.0769) (wt.) — (.3877)(age) + (6.315)(sex) —( 3.2649) (time) — (.1565) (HR) 

VO2max = 132.853 — ________ — ________ + ________ — ________ — ________ 

   (Weight) (Age) (Sex) (Time) (HR) 

VO 2max = __________ mL/kg/min 

Record your fitness category: __________ 

VI. Discussion 

Approximately 70-80% of the American male population attains cardio-respiratory limitation at energy expenditures of 10-11 METS. 

1. Define METS. 

2. Calculate your maximum METS. Show all of your calculations. 

3. Assess (quantitative) your aerobic work capacity in relation to the average American standard and to the Swedish standard. 

